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Adding with zero digits up to 100 #9

0+ 78 = 21) 34410 =
6+0= 22) 60+ 59 =
40+ 70 = 23) 93440 =
90+ 7= 24) 20420 =
6+ 10 = 25) 60+ 75 =
99 + 8 = 26) 5+ 13 =
26 + 80 = 27) 90 + 53 =
98 + 30 = 28) 0+35=
0+25= 29) 5247 =
60 + 17 = 30) 30 4 54 =
70+0= 31) 97 +70 =
20 + 42 = 32) 10+ 17=
64 +0 = 33) 68+5 =
8+ 50 = 34) 80+ 97 =
89470 = 35) 20+ 77 =
6+ 30 = 36) 90 + 34 =
1540 = 37) 30 +20 =
90 + 46 = 38) 4+ 14 =
57+ 6= 39) 20+ 73 =
8+ 77 = 40) 0+ 55 =
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Adding with zero digits up to 100 #9 (Solutions)

9+ 78 =87
6+0=26
40470 =110
90 + 7 =97
6+10=16
99 +8 =107
26 + 80 = 106
98 4+ 30 = 128
0+25=25
60 +17 =77
M0+0="70
20 + 42 = 62
64 +0 = 64
8+ 50 = 58
89470 = 159
6+ 30 =36
I5+0=15
90 4+ 46 = 136
57+ 6 = 63

8+ 77=85
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34410 =44
60459 =119
93 +40 = 133
20 420 = 40
60 + 75 =135
5+13=18

90 4+ 53 = 143
0+35=235

52+ 7 =159

30+ 54 =84
97+ 70 = 167
104+ 17 = 27
68+5=73

80497 =177
20+ 77T =97
90 + 34 = 124
30 + 20 = 50
4414 =18

20+ 73 =93
0+ 55 =955



